[(EE8FEDIFE21H]

TH3E 8 —HREEVLERRERTELR(SRLSE]

BOHIT-—BERYOBEERUHE [RAFEIZDS5D2F4E51]

KEREOXRBRREHEE (A1 EAE) [(BRAEIZFDE5D2H 4B = RUK]

£ B B: S35 8H31H
i 5% A FHARYLIEE2—

L] 3| B = (B ) MR K #h T 7K %
\ R ER 5 AT K (EFRER) TR (FHER)
B H (t)
R A 4% 34 8A23H %0 34 8A23H %0 34 8A23H
\ BRERENEONI-H %1 34 8A31R %0 34 8A31H %0 34 8A31H
TR H 157.00 (t) _
ERipERX 56 mS/m 64 mS/m
. w4 4 i 69 mg/L 73 mg/L
8K (1) i
KFA A VIRE (pH) 7.6
EYEEMBRRERE 0.5 mg/L
LIREBIR (t)
ILEMBRRERE 1.6 mg/L
. FHEMEE 1R mg/L
ZOt (KEZH) 8476 (t) i
ZREHEE 4.1 mg/L
BERDEE " - (= 7 - (=
D ( (t)
F A =] F A H
ZF0M ( (t)
BEGEEEHE LA
Z0M ( (1) fte T ORE*
Z 0t ( (1)
KEBRE HEVE) OXEHERRLEE (F1EAFE) [RAEIEZFOSN2F4E-_RUK] HBROSE FRAFIZFOSD2F4EAQ, /N AN, b, FRUY]
mom K i T 7K % 7 E oK T OB SRR
RIS Bk DKEREHR) SHB|AE KERERE] SB[IE KEREHE) 38 = o’ A R3. 8. 31 R3. 8. 31 R3. 8. 31 R3.8.31
FIEAR B TKEREHR) SB|K KEREHE) SB|JK KEREHE 38 BERDEE = % G
BRERENEONIE Bk DKEREHE] SB|AE KERERE) SB[AK KEREHE 38 £ A H £ A H £ A H £ A H
KERERR B TKEREHR) SB|K KEREHE) SB|K KEREHE 38
RROBR o m BEGHEER L1
AHRULZEEDR
£ A H £ A 8| |z

LEGHEZHELLFABL

ZORE?




